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( C )1 PEHHRABEZKERESE 115 7 - AR 97 F - FHIHECLHRIKENZ - &R
HEVSHE AAZT7H  SBXEEZIHEEAN?

(A)24 A (B)8 A (C)30 A (D)33 A -

f&#tr: 115+5=120 - 97-7=90 - (120~90)=30 - &% 30 A -

(B )2 EIHEI’\Ji%%ZJE’\J?%{% - BMZm AL 210 5T - AIFEZ D IT?
(A)150 (B)160 (C)165 (D)170 T -

AT 1+3%=4l . 210+41=50....Z - 50X 3%=160....$

5 5
(C )3 EEARERRWEE  BERRUEERNEREAARY | ==
S EMAIA 50 RS - REWETRIOUREESE - | L. ax
Rl B IN45/\RETEIR? MIWEES....70 35
RV el
(A)15 (B)18 (C)21 (D)24 /It - P 6

BT NAfD - FEWHE 20X6=120 - EMA 50 5% - EFEE 120-50=70 - 820 %
of#s 6 /\EE - 70+20%6=21 -
( D)4 MKEE - KxeforaEEE P (BRER=3.14)

(A)168.56 K1 A5 (B)170.28 EH A%

(0)172.64 FH5 A% (D)175.84 FHAS - w N
BT ERAKXYE-FXE+/NEE LAAE) 2
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%x14><14><314_><10><10><314+ X4x4x%3.14=175.84 EH A

( A)S. NAE - XeRrTEBEEZSVFARR?

(A)9.42 (B)9.56 (C)9.68 (D)9.88 -

B Fk =4 B+E5H 1 09E-4 EE.CABMA 360 B

EF(LEE)=1x1%x3.14X4-1x1%x3.14=9.42 7

R -

( C)6. RIFL2EAWEEETT 14 /M5 - B 72 FUEEEL /I
(A)72 (B)76 (C)84 (D)88-

BT REREEL/NE - 12:14=72: 1 - O=84 /)\iF -

( B )7. 450 ARMRE Fi—BFEE 72 ¥ Ji—EE 64 ¥ MR B I5HE -
BRELIELEAR - mATBERIRFRIZELLRL?

(A)42 (B)50 (C)52 (D)56 AR -

fEtr:450+72=6.25 - 6.25%(72-64)=50 AR -

4 3
( A )8.The right picture is the expansion diagram of the
triangular column, how much is the volume of hy
the triangular column? ;"
LAY

i GEESARNENE  RESTRN=AREEES
(A)60 (B)72 (©)120 (D)144 AR %H -

B KEE 14-4=10 - V=4><3><% X10=60 IIHAS °

(A)9. NESKILUEIEENEAE -4 A% - NESXIE10 T &F 4 Bt

MWEREES 1200 T - NWEBXNEREFET?
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(A)50 (B)80 (€)100 (D)120 7t -
B RNVBBARNWEREAXTT - 4RAMKBE30X

(X-10)x30=1200 - X=50 7t -

__——10cm —_

( C )10. ME - #HER 10 ATWELBRREHRE LEE® - BRE&  tonl i,

KEAR T EIRK 8 S ZHEINESR A BEEER

KREBRIVERAD?
(A)450 (B)500 (C)600 (D)650 FH A% -

BEHT: 5X5%3%x8=600 FH LR -
( D )11. TEMER - SREMBSHEAEREHESZE - BHEK 90 @ - ARz

{E? (A)44 (B)46 (C)48 (D)52 f -

BEAT: EREZFRED7 E—4E\BIR - 90+7=12....6 - I THHEHF=AELEAH

4x12+4=52 {& -

( B )12. —&REFET 300 E - 6HFETEEMN 75% - IRE 7 150 & - 18¥F &5
EHIL D Z48? (A) g (B) g ) g (D) g .

AZ#7: 300+75%=400 - 150+400=%=§ .

( D )13. E—RERELLHIR 1:300000 B94EE E& 15 A% - MREREEELLH
R 1:60000 By#EE L B2 SV A5?

(A)60 (B)65 (C)70 (D)75 4% -

847 15+~ =4500000 - 4500000X — = =75 A% -
300000 60000
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( C )14 B—RUFEEHAMSP - E%EKEF - NG BETTSEIGEE - BIIIE At -
ERILBRENEAZE 150 A7 - BKFEZRZ VM AR?
(A)420 (B)430 (C)450 (D)460 A% °
ﬁ@ffﬁ:150+(1-§ -%):150+% =1050 - 1050 ; =450 A% -
( B )15. iJsikal#RIIE 10 [UEE - S —IifEkm4EE 60 PRIEBEM TR -

g | B & A T 3% [ B ¥ + £

=18 -5 -6 -7 -8 +10 -2 -3 -4 -5 0

Al 10 IR 2N THERERS D H?
(A)48 (B)57 (C)58 (D)59 -
BRATT: € (-5)+(-6)+(-7)+(-8)+10+(-2)+(-3)+(-4) +(-5) 3 +10+60=57 -
(D)16. EA-B-C=HZ4ENBIBa -b-c-B4lla=-a . |p-c/=b-c . AIA-

B C=MEMRLWAIETIERTIIEE?

(A) | ! (B) ]

< —A————~F——— b)) ——"—F——+-

. wlal=-a-..a<0
wb-c[=b-c b-c>0b>c.ED
(B )17. ZEBEEEMTS A~ B C=E » ZEMRXK 1007T - 80 It ~ 60 7T » JAE
UM ALERE BHE 12070 ZES0TT  WAET0TE TH65 TG » HUA
BB ERE  AIRZEES /DR A BHNR?
(A)JOsE (B)13®&E (C)23F& (D)33& -
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f#tr: 120+50+70+65=305

MRAEE 35K CE 15R>»100%x3+60=360 £%4
MRAEBE 25 - CE& 2 ’&>100%X2+60%xX2=320 £%4
MRAEBE 15 - CE 3 5R>»100x1+60x3=280 %1

( D )18.12345+a=-3:-12345+b=-3 (-12345)+c=3-12345+d=3-Bla-b-c-
d BIAR/NEEHRE?
(A)a>c>b>d (B)a=c>b=d (C)a<c<b<d (D)a=c<b=d -
fBHT: a=12345+(-3)=-4115 ; b=(-12345)+(-3)=4115 ; c=(-12345)+3=-4115 ;
d=12345+3=4115%a=c<b=d
( B )19.9876543212 24 {i181?
(A)17 U2l (B)18{u#E (C)19 g (D)20 fiuE -
fi2#7: 9876543212=(9.87654321 X 108)?=(97.-)x 10*=9.7-.x 10*x 10*

=9.7x10Y=>18 fiI& -

( D )20. & LA A(a)-Bb) Cc) ~D(@)MuBE> BE&lakkbA S |a=d] - p|=] -
HC- DM  REZIRMER-7 - AITSIRH{D]E ET#E?

(A)A E54A{Z5-7(B)B B4 AD B9 E5(C) CD =7(D)c-a=-9

g 5§ | %5 % a=7.b=2-c=-2:c-a=(-2)-7=(-9) - DIEFE -

0 b
( D )21.Calculate the exact value of 42-2x%(8-3)="?
#E: T42-2%(8-3).1 FtEHIEMHE(E?
(A)200 (B)100 (C)23 (D)32
FEMT: STIRBREIA - FEIREEM - [RX=42-2X5=42-10=32 -

7
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(A )22. Which tank will fill up first?

M —EE Kt R STHEEW? T
(AF (B)G (OK (D)H d

BEMr: D # H &85 - I NEBELL L

= FRLLEEITEK - L RER

F - FRLLF E5timoKAL - ‘

Tt

(A )23.Figure out the following number laws:
L TS F R E:

14%2=21

20%4=75

36>%9=320

40%10="

(A)396 (B)386 (C)376 (D)366 -

=)

BE:

14%2=14%X2-14+2=28-7=21

20%4=20%x4-20+4=80-5=75

36%9=36%X9-36+9=320 - 40X10=40%x10-40+10=396 -

( D )24.1%/1000 ZZ28(h - % 3 FIfSEEE 4 ISR BILIO RAEHEZR -
1 20A50 7A0Q 101D 1B314OLAITTR19AO 2

23 R 25 26 ..........
503 /A /A (9 EEOHMIMIASESVE?

(A)164 (B)165 (C)166 (D)167 4 -
T (34)=12 - B12ABMEA 24
1000+12=83......4
2x83+1=167# - ED -
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( B)25.A-B-C-D-ERAZMEH  r MPR/ 107 SROREH -
T4 7meE - 4
FrEEESD ° .
T AMDBIFES - .
:TEHZE S5 BEABFELE -

E:"THESAFE_S -HECZ25 -,

SR B 1B%5? (A)7 9 (B)8 % (C)9% (D)10 4% -
gE#r: HB -~ C - D - E #%5§&
(1) A=4 - F D<4 . Bl D %RIE7 (D AolgE2 5 B ABIFL)
(2) A=4 - ¥ D=A=4 . Bl C= A;D =4
XNEEECZ273BIE®F64%) BIDAOIgER 5 BANFELS -
(3)1R#8(1)(2) D>A=4 - 5 AX/NDB>E>D>C>A

(4)A=4 . C= A;D = 4+2D 3D 2EH

0% D=10>FA&(CX B &3)
Q% D=8 c=A_;D=$=6 " ELtEC%24% - E=8

o N %>

>B=5X6-(7+6+5+4)=8..F5 - EB -

— - ETERE(BE 25 9)

L /M~ R~ NBHEDT - BHELASER 300 TT4E/MT - FrERICE H/MIS AT - B
& 321 JT » B|E 420 T - BEERE/IMTRY 35 ToEREE ~ ZNRRY 28 TTREHMANGERT 30

TCHERK - BEERHEAE TN - BAMTERE R BETE/NEN/INE?

fE#fr: 321+420-35-28-30=648

648+3=216

300-216-30=54...../\%8
300-216-28=56...../\k

Zuvi o3 BIRER A/ NEEF/NEKRE 54 7T 56 7T -
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1 1
2. The following nine numbers, 9" 3 1, 3,9, 27, 81, 243, 729 respectively fill
in the right figure nine squares, so that all straight line, row and diagonal

online every three number of products are equal, how many of the number of

X-squares should be filled?
1 1
ﬁﬂ%ﬁ:ﬂ%?ﬁﬂhﬂﬂiﬁg '3 1-3-9+27-81-243-729 BRBEAGENELESP

ESMAEETT - R EHAR LS =EHRIREEES - BREA X F18PRRIE

RE?
1 1 243
B §~§~1~3~9~27~81~243~729

2323130 3 2 P3P

REARRRD3 WISHAHER 729

C(-2)+(-1)+0+1+2+3+4+5+6 ) +3=18+3=6.... BHRIEHFE 6

18+9=2.....HREH 3° -

3 132| 3 243. 27.

D | =
+

3. | 729.

L | —
+

X=81 &:X=81
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